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Answer five questions, selecting one from each Unit

UNIT—I

1. (a) Decline the following : 1×5=5

(i) S"Z in O"wO"rY"p Ô@°\"E"S"

(ii) X"s{S" in T"¯P"X"p V" l̀\"E"S"

(iii) _"sR"r in E"O"sP"rÍ {ü\"E"S"

(iv) QpO"w in ^"Œ>r {ü\"E"S"

(v) X"pO"w in {üO"rY"p {ü\"E"S"
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(b) Conjugate the following : 1×5=5

(i) BpX"o in ìpuJ>o first per son dual

(ii) _"u\"o in ìDo> second person singular

(iii) ™po in ìJo> third per son plural

(iv) Qp in ìDo> first per son sin gu lar

(v) W"t in ìpuJo> third per son plu ral

2. (a) Decline the following : 1×5=5

(i) S"Z in T"˙"X"r Ô@°\"E"S"

(ii) U°ì in T"¯P"X"p V" l̀\"E"S"

(iii) S"Qr in T"˙"X"r {ü\"E"S"

(iv) Y"s^X"Qo in {üO"rY"p V" l̀\"E"S"

(v) X"{O" in O"wO"rY"p Ô@°\"E"S"

(b) Conjugate the following : 1×5=5

(i) T"p in ìJo> first per son singular

(ii) \"Qo in ìDo> third per son dual

(iii) `S"o in ìDo> first per son singular

(iv) @w° in ìpuJo> second per son plural

(v) ds in ìpuJo>> third per son plu ral
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UNIT—II

3. (a) Join/disjoin in Sandhi of the following : 1×5=5

(i) {\"¸p + ÏpìY"#

(ii) Bppu + Ïb"#

(iii) S"Y"S"X"o

(iv) ^"L>pS"S"#

(v) ÌQo + {ì{A"O"#

(b) Account for the case-endings of the
following : 1×5=5

(i) {\"¸Y"p \"R"ÍO"u V"s{´#°$

(ii) @°NpuÍS" \"{R"Z#°$

(iii) {@z° O"Y"p {@¯°Y"O"u R"uS\"p°$

(iv) {O"ìu^"s O"vìX"[_O"°$

(v) `qZX"{W"\"f"ÍO"u°$

4. (a) Join/disjoin in Sandhi of the following : 1×5=5

(i) `_"S"o + ÏpBpO"#

(ii) QlBppÍ + ÌO_"\"#

(iii) _\"pBpO"X"o
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(iv) S"v + Ï@°#

(v) `ZrÚX"pv

(b) Account for the case-endings of the
following : 1×5=5

(i) @¯°pupz {BpqZ# {O"Œ>{O"°$

(ii) @s°NL>ìpY" {`ZNY"X"o°$

(iii) ZpGY"_Y" T"¯p{ "#°$

(iv) Ïìz T"qZdX"uNp°$

(v) Bppu^"s @w°^Npp V"`lb"rZp°$

UNIT—III

5. (a) Give the Sanskrit equivalents of the
following : 1×5=5

Good morning; Door; Chair; Duster;

Coconut tree.

(b) Give the Sanskrit equivalents of the
following : 1×5=5

Classmate; Table; Chalk; Blackboard;

Pearl-necklace.
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6. (a) Give the Sanskrit equivalents of the
following : 1×5=5

Postman; Blue-lotus; Shirt; Computer;

Thursday.

(b) Give the Sanskrit equivalents of the
following : 1×5=5

Water bottle; Tape recorder; Potato;

Soap; Engineer.

UNIT—IV

7. Write an essay in Sanskrit on any one of the

following : 10

(a) \"uQpu&{A"ìpu R"X"ÍX"tìX"o

(b) _\"pX"r-{\"\"u@°pS"SQ#

(c) X"`p@°{\"-@°p{ìQp_"#

8. Write an essay in Sanskrit on any one of the

following : 10

(a) Ï_"X"{\"ƒ"{\"¸pìY"#

(b) X"`pW"pZO"X"o

(c) QlBppuÍO_"\"#
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UNIT—V

9. Translate into Sanskrit : 10

Aruna   : What is the name of your school?

Bimala  : The name of my school is Victoria
Girls' Higher Secondary School.

Aruna   : In which class do you read in?

Bimala  : I read in Class XII.

Aruna   : How many students are there in your
class?

Bimala  : There are 70 students in my class.

Aruna   : At what time classes start in your
school?

Bimala  : The classes start at 10.00 a.m.

Aruna   : What is the name of Principal of your
school?

Bimala  : The name of Principal of our school is
Dr. Anuradha Gupta.

10. Translate into Sanskrit : 10

Travelling gives pleasure to mind. Through
travelling outlook becomes broad. Journey in
Autumn is delightful. At the completion of
Durga worship many start for outside journey.
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Now-a-days train journey is ideal to go to the

Kolkata from Silchar. What cannot be obtained in

Kolkata? There are three kinds of Rickshaws—

pulled by man, driven by man and auto rick shaw.

Metro rail and minibuses also are there. Cir cu lar

rail also moves in a cir cu lar way.
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